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Primary Division: Problems II

P2.1. Four very hungry children were given a plate of cakes. Alfred ate one quarter of the cakes
plate. Beatrice ate one third of the remaining cakes. Then Catriona ate half of the cakes th
left and finally, Douglas ate the six cakes that were left. How many cakes were on the plati
start and how many did each child eat?

P2.2. Fifteen strangers met for dinner. Before sitting down, each person shook hands with every
at the meal. How many hand shakes were there?

After they sat down at@undtable, each person clinked glasses with the person on his imm
left and immediate right. How many times in total did glasses clink?

P2.3. Many years ago, in a far off country, a lord invited all his workers to a Christmas celebratio
castle. George and Beryl set off at 11 a.m., travelling by horse and cart. At11 30 a.m., Be
how far they had gone. George replied that they would stop at an inn for lunch soon and tt
had already travelled three times as far as the distance still to go to the inn.

After lunch, the couple left the inn at 1 p.m. and, having overeaten, George drove more sic
before. After an hour, exactly 2 miles from where she had asked her first question, Beryl a
they had much further to go. George mumbled, “Three times as far as we have come sinc
the inn.”

Beryl took over the driving and they arrived at the castle at 3.30 p.m., in good time for the |

What was the total distance that the couple had to travel to reach the castle?
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